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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - VI « EXAMINATION - WINTER - 2017

Subject Code:3366001 Date: 02-11 - 2017
Subject Name: Urban Transportation Planning
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol AU,
Define transport planning.

2lodWle WAool cAlvAL UL

What is base year and horizon year?

A% AR Wal SRAet AR 9 B?

Enlist factors affecting travel demand.

HULSIL HIOL ol AR 5l URGAN AW,

List out the various growth factor methods.

(QlQu et ¥s522 Ausell A€l ololldl,

What is registration number survey?

Aot oleR AT 9] B?

Enlist name of transportation surveys.
glodWléalot U oll oltd cAul.

Define Corridor.

SRS\ cautu=ul AU,

Mention the factors which affecting on Model split
Hsd cfleal WAR 5cdl URGA GeAw 53,
Write full form of BRTS & LRTS.

BRTS 3l LRTS otl Y32 olti Wl

Write the full form of CBD and explain.

Alolldl of Y3 stH cvll umendl.
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Q.2 (@  Explain system approach to transport planning with flow chart.
sl (1) 2ledWé wetllelor Hiz RreH AR Sl AL U AHA.

OR
(@  Write short notes on transportation problems in urban area.

@) 233 (ARl Ul alet Wl 2totoll UM (AN gsolll Al
(b)  Explain home interview survey.
(W) UR AUUB ATl U,

OR
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What is parking inventory?

u($al 8ol 9 B?

Explain typical corridor components by drawing neat sketch.
Qe 5RSRatl uesl ety Rt €131 AmesAl.

OR
Explain the roles of transportation in society.

AUl URcsstoll oRst vmesdl.
Explain “Golden quadrilateral”
“OUEsel U™ UHB L.

OR
Write the advantages and disadvantages of mass transit system.

AHEs URaleat Ualdoll SIAEL w NGLAEL AV,

Write difference between linear and multi-linear regression method.

@ARAR A HAE (AR Rt Uugld @QVA cdAslald Al

OR
Define: Urban areas, Rural areas and Study area.

culual AW - ASI (AR, A (AR Aol weA™ (AR,

Write the short note on Mono rail.
Hloll 2t (AN 5ol el

OR
Define: Trip, Origin and Destination

clull AWl:- Zlu, GeolH(alg wal e,
Explain the factor influencing the trip production and attraction.

AU Ulsslol AR A 5Uotal WAR sl UR et umestal
OR

Write the advantages and disadvantages of Road Side Interview survey.

AS AYS Bo2c U oll SLAEL Mol AIFLAEL AW,
Explain with example category analysis for trip generation analysis.
2lU oRalet HIZ2 32013l AeAlARU GELEW U UM

OR
Explain Fratar method for trip distribution.

2lu BR2ojalet H2ell 321k Ras AU,

Explain terminologies:- 1) count 2)segment 3) point.
Aoelacll AU A:- 1) 51602 R) A2 3) WESo2.

OR
Give the purposes of trip.
Buotl sl AL,
Explain Detroit method.
3252 ugld AHestal.
OR

Obtain the future O — D matrix from the given data using average growth

factor method. Carry out one iteration.
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Q.5
sl U

(¢)
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(5)
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(s)

1 2 3 Future Trip
D
1 60 100 200 360
2 100 20 300 1260
3 200 300 20 3120
Future
Attraction 360 1260 3120

WA HUEBA wl 1R219L AN ¥52R Ugldell Guallal 53l el
H2 -3l ARsA Al As Yol(sel UHA 5.

A a 1 2 3 afe du
1 60 100 200 360
2 100 20 300 1260
3 200 300 20 3120
#l 360 1260 3120
EENL

Mention the points are kept in view while dividing the area into zones.
(QrARA Aot (QeulBd 5l cwd LuletH AWML ALl

yellloll GeAW 3.

Explain urban transport planning process.

A3 URcgatl w2l Ylsaul UMl

Write comparison of various mass transit options.
WA AUAI AY§ URasst [Ascdl (AN cul.
Write short note on post card questionnaire survey.
Wests Ywllddl udatel Gur gsellu cull.

Write difference between trip end and trip interchange modal split.
2l Aos W U Boe Ao HISEAH 1l oll dslelct wRUA.
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